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1.} |[Robert’s bus ridelis|5 inuteslmore than E )he length of(J essie’s bus ride.} Which graph
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2.) What scenario could be modeled by the graph below?

The number of basketball players, y, plus 2 the
number of football players, x, is no more than 6.
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B) The number of basketball players, y, plus % the WRO
number of football players, x, is no more than 9. \ )’ - n

C) The number of basketball players, Y, minus % the 0
number of football players, x, is no more than 6. :l E] !
N\

D) The number of basketball players, y, plus 3 / > the
number of football players, x, is no more than 6.
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3.) The marching band sells cases of cranges and
grapefruit for a fundraiser.

Shakira sells 5 cases of oranges and 8 cases of
grapefruit for $235.

Jeff sells 3 cases of oranges and 2 cases of
grapefruit for $8s5.

How much would 1 case of oranges cost? (Express
your answer in dollars.cents.) X — @a \FO R

OXFZy=A39
(BX+ay= 39
GJSX+%¥:&86

= 34%0
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X=Jow's aQqJ
y=‘ﬁﬂﬂ30%w
UX+Qy=3
Y
4x+a (X=4)=50

4.) Four times Joe’s age plus 2 times Tim’s age
equals 50. Tim’s age is also 2 less than Joe’s
age. How old is Joe?
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5.) Suppose that the function f(p) = 3p + 30
represents the number of points you earn on
a test for getting p questions correct. You
earned 13 extra credit points for a project.
How many guestions must you answer

| correctly to earn an A {90 points) on the gest? A) L B)VIIr? = h
2pra0+18=90 (g L Y
3p+43=90 QU SHoTS m s
GP:L}'—] s C)—==h (D)==h
Q= 10,1 SN

6.) The volume of a cylinder can be found using
the formula: V = [r?h, where V is the
Volume, r is the radius of the base, and h is
the height. What equation finds h, given V
and r? (Remember, [T is a number.)

7.) The table below represents the average price of a movie ticket in the given year.

Year 1987 | 1991 | 1995

1999

2003 | 2007 | 2009

1.50-4.91 _ 3.4

Price (8) | 391 | 421 | 435

5.06

6.03 5.88 7.50

C) $.23/vear

D} $3.29/year

A009-199;" T¢|

To the nearest cent, what was the average rate of change of the ticket pri ,engj:we 1991 and 20097
A) $.16/year . B) $.18/year

8.) Jose compared the y-intercept of the graph of the function f(x) = 3x — 9 to the y-intercept of the
graph of the linear function that includes the points in the table below,

4
What is the difference when the y-intercept of f (x) is subtracted from the ;b - :‘?
y-intercept of g(x)? Y ~ ‘F y “') :
RIS R TV T
A -11 B.) -7 s - (““Q) 3110
— 4 | 14
C) 2 Jd+9
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g.) For a certain section, Panthers season tickets
cost $70 per game for x games with a $2,000
charge for a Personal Seat License. Courtside
season tickets to the Hornets cost $250 per
game for x games with no PSL charge. What
function represents the difference in cost -
between Panthers and Hornets season
tickets?

A) f(x) = —180x + 2000

B) f(x) = —180x - 2000
Q) flx) =

D) f(x) = —1820x

TOXFA000) 50X
=180 X+3000

70x - 1750

10.) Dayana compared the slope of the
following two functions:

G(x)
Function with x-
intercept at 3 and
y-intercept at —2.5. |

(8,00(0,4.5
X = -d.0

m=s
Y

p—

What is the slope of the function with the larger

slope?
A5

C)-:— D)2

11.) The table below shows a car dealer’s paycheck

based on the number of cars she sold.
Cars | Monthly
"Sold | Paycheck
6 $2.500
12 -$4.000
18 35,500
24 | $7,000

What is the meaning of the slope of the linear model
for the data?

A) The dealer gets $2,500 for every car she sells.
B} The dealer gets $2,500 for every 6 cars she sells.

Q{%@lﬁf@l&&ﬁ@@%&ﬂ@ﬁ -
D) The dealer gets $1,500 for every 6 cars she sells'}
\—’\-W\_J\._J\‘_,A\ LN N

12.)Keyshawn and Trey begin saving money each
week. After x weeks, the following functions
represent the amount of money they have
saved:
Keyshawn: f(x) = 5x -+
36
8x + 9
After how many weeks will they have the same
amount of money?

E Trey: gx) =

A) 1 week B) 5 weeks
Mﬁ) D) 13 weeks

OX+31) = X+9
U= 3X+9
J7=3X

qu

x and the total amou
A) {0,1,2,3,4}

0){0,1,2,3,4,5,6,...,23}

13.) Mariah noticed that various combinations of $1 and $5 bills could ma
number of $5 bills and y represent the number of $1 bills. What is thé

e.$23. Let x represent the
ere y is a function of
B)(1234 4 of §5
NTRIEY

D){1,2,3,4,5,6, ..., 23}




in a school on a given day.

14.) A really bad cold is going around. The following table represents the number of sick students

A)f(x) = 11x + 12

DY Lo
19 432
D%f(%—\/? x\)f}
\..____,,

DAYS i 2 3 4 3 6 7
SICK 12 23 34 45 56 67 78
STUDENTS )
What function could represent-}t"hle‘ nun;lre'x] of 51::11; ‘s'tudents after x ds!ly‘fs assumlng the cold keeps spreadmg"

15.) Jesus has $34 in his bank account. With his
new job, he deposits the same amount each
week into the account. After 35 weeks, Jesus
has $909 What function can find the amount
in Jesus’s account after w weeks

B) f(w : 25w¢34 Tn-— (g—IS
fwy = ——w + 34 85
DY f(w) = 25(w 1) + 34 M= (Q

16.) What function describes the ntt term

of the following sequence?

9,16,23,30,. Q_n,_‘*{ <"ﬂ N+9

A) fm) = 9n + 7

xﬁﬂ(3590q>3)ﬂ@=7n+9

O fm) = 9n-1) + 7

D) fn) =7n-1) + 9

17.) _

| L
safid 1y > §X-
QQ++WdIVﬂWf:ib

Choose the system of inequalities that matches the
graph.

A. y =< -Hx
yz /-1

18.) Solve the inequality:

X< -x+7(x—-2)

XL RFTIX T

X4

19.) Solve the equatlo
T ()"

Q4 =1%X-19
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20.) What is the value of x for
~4(2x + 3)- 10x = 14 (x- 8) + 3x?

Leave your answer in fraction form.

L gx-18-10)= 1 X134
S19x-1a= 17514

—ld= BSX" N

21.)What is the domain of the graph below?

o0 LXLon

three consecutive even integers. If the
perimeter of the triangle is 72 inches, what is
the length of the longest side?

ﬂJr%n:L&Laj%w%w
3n=00 ﬂﬁm
N=44a

: ‘ T x—-4
22)  Whatis thi rangi?ﬁhirﬁzey? 23)  Giventhe function, fl) ==,
. I what is the Value of f (E)‘?
: nﬂ(a‘) 3
L _]C (.____ ) — w
24.) The lengths of the sides of triangle are 25.) The length of a square is Zx — 1 units.

(| A 36 units?

The width of the square is x + 5 units. What
s the area of the s e? — f
| T QY= XH

Jgy-i=t] AT AT
’ u)_‘_5_‘:”B49u1ruts AX’ML
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X-_.

D. 25 units?
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26.) The length' of a rectangle is 2 times 1
less than 3.5 times the width. The perimeter
is 60 cm. Find the width of the rectangle.

1w =) L= Q(3.5W-)
L=TW~q

27.) The expression 2T + 3F + 4M + 10F gives the
number of points a student earns on a test
when the student correctly answers T true-
false questions, F fill-in-the-blank questions,
M multiple-choice questions, and E
extended-response questions.

True or False:

I: The term 2T represents the number of total
number of points earned for answering 2 true or false
questions correctly.
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28.) X is the midpoint of line segment WZ.
Y is the midpoint of line segment XZ. W is
located at (12, 8) and Z is at (0, —4). What are
the coordinates of Y?
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29.) Lori graphed a linear function with a
negative x-intercept and positive y-intercept.
Which choice could be the function Lori

graphed?
D
TIFREEC14,0) (0
Emaca (I U
o A=18,0) (o'%

30.)
A. g, =1.06,_,whereg; =4
B. g, = 1.06,_, where g, = 4.6

. .‘gq =Gy +4whereg, =4
D. g0 =9gn—1+0.6whéreg, =4.6
A_J\_.w

v o
\ | x

+.0,5.9,5.90.%7,71.1, 2.4, %

Which recursive formula produces an arithmetic sequence where g, = 6.4 and go = 9.4?

L

79.4

9
)
T




